AFLEERRZF

(BEE | STSEE REFE14S

e EMEMHKENAHEANEIHIE (KMET IR 4th)

AFfLBE | SF5&F12A12H 9RF00%>

ARE 1 5E2[E] S53[E] b= 2244 HME

1/ ER 7,550,000

2| = AR RN IE KRR 8,836,000

|\EEEFRITEW 7,650,000

4| —RL—ay 8,200,000

5|@)— D% 7,450,000

6|R=FNEEER 7,350,000/ % #l
7|#RE R 8,400,000

8| KIS R MR 7,450,000/

9[F=L\ KO TEM 7,586,000
10|08 %= B A 7,440,000/
11|64 A 383 8,200,000/
12
13
14
15

m o= FEME 10, 340, O0OOHXBHR AR

T # . 2R ~ SFM6F2A29AR
& £ |[2R#£4E8, 085, 000 (SLWMEIIZLHEERR UG HERNDEE735, 000M)

BRALESHTHES




